



PING YI SECONDARY SCHOOL
Perseverance Yields Success

Name Huang Hsiang Yi

Class 302

Subject A-Math

No. 20

Date 7/1/2009

Ex 1.2 <Pg 4>

1. $y^2 - 4x = 0$ — ①

$2x + y = 4$ — ②

②: $y = 4 - 2x$

①: $y^2 - 4x = 0$

$(4 - 2x)^2 - 4x = 0$

$16 - 16x + 4x^2 - 4x = 0$

$4x^2 - 20x + 16 = 0$

$x^2 - 5x + 4 = 0$

$(x - 4)(x - 1) = 0$

$x = 4$ or $x = 1$

$y = -4$ or $y = 2$

Neat! ☺

2. $x + y = 2$ — ①

$2x^2 + xy + 1 = 0$ — ②

①: $x = 2 - y$

②: $2x^2 + xy + 1 = 0$

$2(2 - y)^2 + (2 - y)y + 1 = 0$

$2(4 - 4y + y^2) + 2y - y^2 + 1 = 0$

$8 - 8y + 2y^2 + 2y - y^2 + 1 = 0$

$y^2 - 6y + 9 = 0$

$(y - 3) = 0$

$y = 3$

$x = -1$

3. $2x + y = 1$ — ①

$x^2 + y^2 = 5$ — ②

①: $y = 1 - 2x$

②: $x^2 + (1 - 2x)^2 = 5$

$x^2 + 1 - 4x + 4x^2 = 5$

$5x^2 - 4x - 4 = 0$

$5x^2 - 4x - 4 = 0$

$5x^2 - 4x - 4 = 0$

$(5x + 2)(x - 1) = 0$

$x = -\frac{2}{5}$ or $x = 1$

$y = \frac{9}{5}$ or $y = -2$

$y = \frac{9}{5}$ or $y = -2$

$$4 \quad 3s^2 + 2t^2 = 11 \quad \text{--- ①}$$

$$3s + 2t = 1 \quad \text{--- ②}$$

$$\text{②: } 2t = 1 - 3s$$

$$t = \frac{1-3s}{2}$$

$$\text{① } 3s^2 + 2t^2 = 11$$

$$3s^2 + 2\left(\frac{1-3s}{2}\right)^2 = 11$$

$$3s^2 + 2\left(\frac{1-6s+9s^2}{4}\right) - 11 = 0$$

$$12s^2 + 2(1-6s+9s^2) - 44 = 0$$

$$12s^2 + 2 - 12s + 18s^2 - 44 = 0$$

$$30s^2 - 12s - 42 = 0$$

$$5s^2 - 2s - 7 = 0$$

$$(5s - 7)(s + 1) = 0$$

$$s = \frac{7}{5} \# \quad \text{or} \quad s = -1 \#$$

$$t = -\frac{8}{5} \# \quad t = 2 \#$$

$$5. \quad x + y = 5 \quad \text{--- ①}$$

$$(x+1)^2 + (y+1)^2 = 25 \quad \text{--- ②}$$

$$\text{①: } x = 5 - y$$

$$\text{②: } (x+1)^2 + (y+1)^2 = 25$$

$$(5-y+1)^2 + (y+1)^2 = 25$$

$$(4-y)^2 + (y+1)^2 = 25$$

$$y^2 - 8y + 16 + y^2 + 2y + 1 - 25 = 0$$

$$2y^2 - 6y - 8 = 0$$

$$y^2 - 3y - 4 = 0$$

$$(y-4)(y+1) = 0$$

$$y = 4 \# \quad y = -1 \#$$

$$x = 1 \# \quad x = 6 \#$$



PING YI SECONDARY SCHOOL

Perseverance Yields Success

Name Huang Hsiang Li

Class 202

Subject A - Math

No. 20

Date 7/1/2009

6. $3x - 2y = 1$ — ①

$(x-2)^2 + (2y+3)^2 = 26$ — ②

①: $3x = 1 + 2y$

$x = \frac{1+2y}{3}$

②: $(\frac{1+2y}{3} - 2)^2 + (2y+3)^2 = 26$

$(\frac{-5+2y}{3})^2 + (2y+3)^2 = 26$

$(\frac{-5+2y}{3})^2 + (4y^2 + 12y + 9) = 26$

$25 - 20y + 4y^2 + 9(4y^2 + 12y + 9) = 26 \times 9$

$25 - 20y + 4y^2 + 36y^2 + 108y + 81 - 234 = 0$

$40y^2 + 88y - 128 = 0$

$5y^2 + 11y - 16 = 0$

$(5y+16)(y-1) = 0$

$y = \frac{-16}{5}$ or $y = 1$

$x = -\frac{11}{5}$ or $x = 1$

7. $x^2 - 2xy + y^2 = 1$ — ①

$x - 2y = 2$ — ②

②: $x = 2 + 2y$

①: $x^2 - 2xy + y^2 = 1$

$(2+2y)^2 - 2(2+2y)y + y^2 = 1$

$(4+8y+4y^2) - (4y+4y^2) + y^2 - 1 = 0$

$y^2 + 4y + 3 = 0$

$(y+3)(y+1) = 0$

$y = -3$ or $y = -1$

$x = -4$ or $x = 0$

$$8 \quad 2y - x = 3 \quad \text{--- ①}$$

$$\frac{2}{3y} - \frac{1}{x} = 2 \quad \text{--- ②}$$

$$\text{①} \Rightarrow -x = 3 - 2y, \quad x = -\frac{3-2y}{1}$$

$$\text{②} = \frac{2}{3y} - \frac{1}{(-\frac{3-2y}{1})} = 2$$

$$\frac{2}{3y} - (1x - \frac{2y}{3}) - 2 = 0$$

$$\frac{2}{3y} + \frac{2y}{3} - 2 = 0$$

$$2y \left(\frac{2}{3y} + y - 2 \right) = 0$$

$$2 + 2y^2 - 4y = 0$$

$$y^2 - 2y + 1 = 0$$

$$(y-1)(y-1) = 0$$

$$y = 1 \# x$$

$$x = 0 \# x$$

$$9 \quad 2x + 5y + 4 = 0 \quad \text{--- ①}$$

$$2xy = 1 \quad \text{--- ②}$$

$$\text{①} \Rightarrow 2x = -4 - 5y$$

$$x = \frac{-4-5y}{2}$$

$$\text{②} = 2x \cdot \frac{-4-5y}{2} = -1$$

$$-4 - 5y = -1$$

$$-4y - 5y^2 + 1 = 0$$

$$-5y^2 - 4y + 1 = 0$$

$$(-5y+1)(y+1) = 0$$

$$y = \frac{1}{5} \# \text{ or } y = -1 \#$$

$$x = \frac{3}{2} \#$$

$$x = 0.5 \#$$

$$\left[\frac{3}{2}, \frac{1}{5} \right]$$

$$\left[0.5, -1 \right]$$

$$2y - x = 3 \quad \text{--- ①}$$

$$\frac{2}{3y} - \frac{1}{x} = 2 \quad \text{--- ②}$$

$$\text{Sub } x = 3y - 3 \quad \text{--- ③ into ②}$$

$$\frac{2}{3y} - \frac{1}{(3y-3)} = 2$$

$$2(3y-3) - 3(3y) = 2$$

$$\frac{6y-6-3y}{9y^2-9y} = 2$$

$$6y-6-3y = 2(9y^2-9y)$$

$$6y-6-3y = 18y^2-18y$$

$$6y-6-3y-18y^2+18y = 0$$

$$-18y^2+21y-6 = 0$$

$$0 = 6y^2 - 7y + 2$$

$$(2y-1)(3y-2) = 0$$

$$y = \frac{1}{2} \#$$

$$y = \frac{2}{3} \#$$

$$x = -\frac{3}{2} \#$$

$$x = \frac{5}{3} \#$$



PING YI SECONDARY SCHOOL

Perseverance Yields Success

Name Huang Hsiang 41

Class 302

Subject A - Math

No. 20

Date 7/2/2009

10) $xy + 20 = 5x \text{ --- ①}$

$2y = x - 3 \text{ --- ②}$

② $y = \frac{x-3}{2}$

①: $(\frac{x-3}{2})x + 20 = 5x$

$\times \rightarrow \frac{x^2-3x}{2} + 20 - 5x = 0$

$x^2 - 3x + 40 - 10x = 0$

$x^2 - 13x + 40 = 0$

$(x-5)(x-8)$

$x=5$ or $x=8$

$y=1$ $y=\frac{5}{2}$

$[5, 1]$ $[8, \frac{5}{2}]$

15/1/09